Present Tense (spell-changing
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YO HUIR

TU HUIR

TU FIAR

TU COGER

TU HACER

YO VACIAR

YO TORCER

YO EJERCER

TU FINGIR

USTED TRAER
USTED GUIAR
USTED TORCER
USTED SEGUIR
NOSOTROS HUIR
NOSOTROS FIAR
VOSOTROS GUIAR
USTEDES VACIAR
USTEDES TORCER
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verbs)

YO FIAR

YO COGER

YO HACER

YO VENCER

YO FINGIR

TU FLUIR

TU SEGUIR

USTED HUIR
USTED COGER
USTED FLUIR
USTED VENCER
USTED VACIAR
USTED CONOCER
VOSOTROS HUIR
USTEDES TRAER
VOSOTROS COGER
NOSOTROS TRAER
VOSOTROS FLUIR
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YO GUIAR

YO TRAER

YO FLUIR

YO SEGUIR

TU GUIAR

TU TRAER

TU VACIAR
USTED FIAR
USTED HACER

TU ESCOGER
USTED FINGIR
USTEDES FIAR
USTEDES COGER
USTEDES HACER
USTED ESCOGER
USTED PROTEGER
USTEDES SEGUIR
USTEDES DIRIGIR



NOSOTROS VENCER



USTEDES ESCOGER



USTED ESTABLECER
VOSOTROS CONOCER USTEDES PROTEGER VOSOTROS CONDUCIR



Solution




